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Paper Pattern

MCQS 40 each 1 mark
Short4 each 2 marks
Short 4 each 3 marks
long 4 each 5 marks
CQuestion No : 1 of 52 Marks: 1 {Budgeted Tima 1 Min) =]

AT was designed for and use a

Answer | Please select your correct option | www.Vi rtua IAcadevaive.com l

~

LANs, Connectionless serice paradigm

WAHS:, Connectonless serice paradigm

Both LAN: and WANs, Connectionless service paradigm

Both LANs and WANs, Connection-onented service paradgl?.h/ff’__,. mnde by: wnan &iddh l|

Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

protecols of TCPIE lavering model specify how to ensure reliable transfer.

Answer | Please select your correct option | Www.Vi rtua IAcadevaive.com .

Physical Layer

Metwork Interface Layer

Intermet Layer

Transport Layer T [YD“ de b,: Wﬂ qﬂ 4 sidd I, L




Question No : Jof 52 Marks: 1 (Budgeted Time 1 Min)  [=]

-------------- have advantages arizen from the size and ease of computation

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

CRC

Panty e

r R

Checksums
0
VRC . 3
c YNade by: Yy/aqar Siddhu
Question No : 4 of 52 Marks: 1 {Budgeted Tima 1 Min) =]
. . relies on the hardware manufachirer to assign a urigque physical address to each network mterface.

Answer | Please select your correct option ) www.Vi rtua IAcademVLiVE-com -
Static addressing scheme

et
o \,//

Configurable addressing scheme

Dwnamuc addrezsing scheme

_[rumennanc YNade by: YWaqar Siddhe

Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

B provides mechaniem that a customer can use to set a physical address.

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

Static addressing scheme

-
Configurable addressing scheme

r i
Dwynianuc addressing scheme

e

_ [ Mackng fYDmle lly: qunr siddhﬂ




Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

_identifies which applcation program on recetving computer should recetve the data

Answer | Please select your correct option |

Logical address
" | Source port
Logical address

WWW.VirtualAcademylLive.com.

Source port

Diestination Port

\w,f

Phyaical Address
=

YNade by: YWaqar Siddhe

Question No : T of 52

Marks: 1 (Budgeted Time 1 Min)  [=]

dentifies th

e application prograrm that sent the data

Answer | Please select your correct option |

Destmation Port

WWW.VirtualAcademylLive.com.

Source port

Lﬂ_,_—f'"

Logical address

Phyaical Address
=

YNade by: YWaqar Siddhe

Question No : § of 52

Marks: 1 (Budgeted Time 1 Min) (=]

The Barder Gateway Protocol (BGP) uses

_ For all comrmunication

Answer | Please selec

t your correct option )

WWW.VirtualAcademylLive.com.

TCP

F
1\,,-"/

Both UDP and TCF

e[ YNade by: Yy/aqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

Which of the fallowing 15 exterior roubing protecal?

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com .

RIP
-
OSFPF
s
BGP =
C \/__,-f"
RIF and OSPF -
c YNade by: Yy/aqar Siddhu
CQuestion No : 10 of 52 Marks: 1 {Budgeted Tima 1 Min) =]

_iz 1deal m a situation where the group is geographically disperzed (-2, has a few members at each site, with sites separated by long distances)

Answer | Please select your correct option | www.Vi rtua IAcadevaive.com )

Forwardmg

Flood-and -Prune

Configuration-and -Tunnelng =

c \v/‘
_ [Core-Based Discover mnde l)y: wnqﬂl' 5’“"“"1

Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

__ mesgage is encapsulated in an _ datagram and sent across the Internst

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

IF, TCF

-~
TCP. IP
r ! .-"'r‘—-r-
| il
TCP, UDP
N

_ | U, TCP [mnde l;,: WQqnl' siddhﬂ




Question No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

"Frame type" field of the header conzists of

it

Answer | Please select your correct option |

-

o

WWW.VirtualAcademylLive.com.

10

16 " deubt
R

32

YNade by: YWaqar Siddhe

Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]

senses a signal ona cable and then transmite an amplified copy of the signal

Answer | Please select your correct option |

~

WWW.VirtualAcademylLive.com.

Reprater
i

L

Brdge

Hub

Transcerver

YNade by: YWaqar Siddhe

Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Cie repeater _, two repeaters _

_ the mammum cable length limitation

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com.

Square root, Cube root

Diouble, Triple

Triple, Quad

Double, Quad

YNade by: YWaqar Siddhe




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

IEreuter detects datagram _ _ than netwark MTU then it sphits the datagram inte pleces and each prece should be _ _than cutbeund netwerk BT

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com .

-~
Larger, smaller "
- \‘v'f
Smaller, larger
=
Larger, larger
=
Smaller, smaller 1
c YNade by: Yy/aqar Siddhu
CQuestion No : 16 of 52 Marks: 1 {Budgeted Tima 1 Min) =]

In TPw6 the type of address used for collection of computers with same prefis is known as_

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com Il

Chuster -
C K e
Ny s
Uricast
&
Mulhcast
-
Anyoast -
c ONade by: Yy/aqar Siddhe
Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

_prowmdes apphcation-te-applicaton conmmunication, alse called end-to-end communication

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

IF

Transport Protoceol
r % /'—d-‘/

e

RIP

e[ YNade by: Yy/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

Which of the following are mtenor routng protocels 7

Answer | Please select your correct option | www.Vi rtua IAcadevaive'com =

RIP and BGP
-
CQSPF and BGP
s
BGP and OSPF
0
RIF and OSPF -
c w YNade by: Yy/aqar Siddhu
CQuestion No : 19 of 52 Marks: 1 {Budgeted Tima 1 Min) =]

_use [P-m-IP encapsulation to send multicast datagrams from one site on the Internet to another.

Answer | Please select your correct option | www.Vi rtua IAcadevaive.com Il

Distance Vector Multicast Routing Protocel -
ot e
Core Based Trees
=
Protocel Independent Multicast Sparse Mode
=
Protocol Independent Multcast  Dense Mode -
= -
c ONade by: Yy/aqar Siddhe
Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

A multicast routng schemne in which the protocs] software builds a delivery tree from a cettral pomnt is called

Answer | Please select your correct option | www.Vi rtua IAcadevaive'com =

Protoceol Independent Multicast Sparse Mode

=
Protocol Independent Mulocast _ Dense Mode
&
Dustance Vector Iulticast Routmg Protocal
&

[t t‘mnde l:y: Wanl' 5’“"“)!1




Cuestion Mo : 21 of 52 Marks: 1 (Budgeted Time 1 Min) =

Wetwerk part o«f IP address needs not to be stered m _ approach of ARP

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com Il

Table look-up
=
Direct indexing
o
Closed-form computation
=
Message Exchange -
c YNade by: Yy/aqar Siddhu
CQuestion No : 22 of 52 Marks: 1 {Budgeted Tima 1 Min) =]

In which method of Address Eesolunion Protocel, address change affects afll hosts?

Where *T" stands for Table loolop, "C" for Closed-form Computanon and *D° for Data Exchange

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com Il

E T \\?/ =
. C
D
-
T, C
; ONade by: Yy/aqar Siddhe
Question No : 23 of 57 Marks: 1 (Budgeted Time 1 Min)  [=]

In which method of Address Eesolution Protocel the protocol address is mdependent of hardware address?

Where "T" stands for Table lookup, "C" for Closed-form Computation and "D* for Data Exchange

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

T.e

o

o "o YNade by: YWaqar Siddhe




Question No : 24 of 57 Marks: 1 (Budgeted Time 1 Min)  [=]

has e way to determine the cause of the problem

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com .

IChP

== YNade by: YWaqar Siddhe

Question No : 25 of 57 Marks: 1 {Budgeted Tima 1 Min) =]

Most TA:S that ernploy ring topology use an access mechanism knowt as

Answer | Please select your correct option | www.Vi rtua IAcadevaive.com )

CEMAKD

CEMASCA

Token Pasaing

Wegee®

o[ YNade by: Yy/aqar Siddhe

Question No : 26 of 57 Marks: 1 (Budgeted Time 1 Min)  [=]

The product of delay and throughput measures the _ of data that can e presented on the networl

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

Area

A Volume i /f/__,-

Length

o[ YNade by: YWaqar Siddhe




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

_places the boundary between the secend and third octets.

Answer | Please select your correct option |

Class A

WWW.VirtualAcademylLive.com.

Class B

Class C

Class D
=

YNade by: YWaqar Siddhe

CQuestion No : 28 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]

An Internet Address (TPwd address) i3 a umgue _ bimary nusnber assigned to a host and used for all conrnumcaton with other hosts.

Answer | Please select your correct option |

48-bit

WWW.VirtualAcademylLive.com.

i2-bit —

24-bit

12-bat
=

YNade by: YWaqar Siddhe

Cuestion No : 29 of 52

Marks: 1 (Budgeted Time 1 Min) (=

11000001, 10G00011.20011011.11111111

The abowe address 12 of class

Answer | Please select your correct option |

el
L O

WWW.VirtualAcademylLive.com.

D

YNade by: YWaqar Siddhe




Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Fnd the class of the address.

10100111.11011011.10001011.01101111

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com.

-

YNade by: YWaqar Siddhe

CQuestion No : 11 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]

Address mask defines how many bits of address are in _

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com.

Suffix
=
Frame
&
Prefix -
c \,ff"f
Packet -
c ONade by: Yy/aqar Siddhe
Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]
Inthe _ _large erganizations began te acquire multiple netwarks.

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com.

1990z
19708 e
r \‘(_’,.f"
19605
e[ YNade by: Yy/aqar Siddhe




Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

TCPIP defines the term_

_ to refer any computer system that cennects to internet and gets sermces,

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com .

-

Fouter

Host Computer

Endge

Hul

YNade by: YWaqar Siddhe

CQuestion No : 34 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]

TPng stands for _

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com Il

~

IF Mew Generation

[P 1™ Generation

[F Wext Generabion

-

e

[F Met Generation

YNade by: YWaqar Siddhe

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Eauter thar decrements TTL to __ and sends ICMP time excesded message wath router’s address as source address.

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

-
-

YNade by: YWaqar Siddhe




Question No : 36 of 57 Marks: 1 (Budgeted Time 1 Min)  [=]

Bath TDP and TCF are _ _ layer pretocals

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com .

Physical
-
Data hink
s
Metwork
0
Transport =
c B YNade by: Yy/aqar Siddhu
Question No : 37 of 52 Marks: 1 {Budgeted Tima 1 Min) =]
Behabitity 15 the responsibility of the laver

Answer | Please select your correct option | www.Vi rtua IAcadevaive.com )

Metwoark
=
Data link
&
Tranzport
' '\‘_,__-r"’j/}
Apphcaton ]
c ONade by: Yy/aqar Siddhe
Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]

_is called an end-te-end protocol because i provide a comeckon directly from an application snene computer ta an applicaton on a remote computer

Answer | Please select your correct option | www.Vi rtua IAcademyLive.com =

ULE

ICMP

o YNade by: YWaqar Siddhe




Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

OSPF is based on

Answer | Please select your correct option |

WWW.VirtualAcademylLive.com.

Dhstance vector roubing
-
Link state routing o
r \f/_,/"
Fath vector roubng
=
Diistance vector routing and Link state routing
c YNade by: Yy/aqar \GIddhn
Cuestion No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

A OFPF areatis

Answer | Please select your correct option |

A collechon stub area

WWW.VirtualAcademylLive.com.

A part of an Autonomous System

Composed of at least two Autonomous Systems

A complete Autonomous System
=

YNade by: YWaqar Siddhe

Cuestion No : 41 of 52

Marks: Z (Budgeted Time 4 Min) (=]

Mame the classes of network on the basic of mobility.

Answer | Please click here to Add Answer )

BEBRl L oRs R

II i

i

|. imu%v |

WWW.VirtualAcademylLive.com.
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YNade by: YWaqar Siddhe




Cuestion Mo : 42 of 52 Marks:  (Budgeted Time 4 Min) (=

In which ARP technique hardware address must be smaller than protecsl address?

Answer {Piease clck here 1o Add Answer | WWW.VirtualAcademyLlive.com.

-ﬁiéthﬁMv-M'mﬂ,|.ﬁEﬂ
o =] [Ariw A Aeru|le===zsise
ONade by: YYaqar 61"‘“"1
Cuestion Mo : 43 of 52 Marks: 2 (Budgeted Time 4 Min)

Which types of protocols are used to exchange internal and esternal routing wfsrrnation in auteniomous groups? Just wite the names.

Answer [ Please click hers (o Add Answer WWW.VirtualAcademyLive.com.

i~ e Y e I e I.ﬁﬁﬂ
[ =] | i =l ~lEairey || — = |: ==

ONade by: Yy/aqar Siddhe

Cuestion No : 44 of 52 Marks:  (Budgeted Time 4 Min) (=

Which protecel is capable of buffering the eutgemg and mcoming data in bath directens?

Answer {Piease clck here 1o Add Answer | WWW.VirtualAcademyLlive.com.

'ﬁ' h-l.- g[ﬁl .:I |E'| S0 T |“ I.:;| |. .'\ |‘- m|
P | B A Aeru|le===zsise

YNade by: YWaqar Siddhe




Cuestion Mo : 45 of 52 Marks: 3 (Budgeted Time 6 Min) (=

Do all LA technclogies inclade a type field in frame? Justify your answer with three reasons

i

Piswer {Ploase lickiare v 408 M WWW.VirtualAcademyLlive.com.
G E[&I = Ii' «7 |ﬂ| oy Al A |. [100% = |
P | B A Aeru|le===zsise

ONade by: YYaqar \SIddhn

Marks: 3 (Budgeted Time 6 Min)

Cuestion No : 46 of 52

Suppose ahost B sends some IP datagram’s to another host T, How host F machine will identify the lost fragment of IP datagram? Support your answer with solid reason

Answer [ Please click hers (o Add Answer WWW.VirtualAcademyLive.com.

Boanl oo A5G @ s ]
| LT S e
ONade by: Yy/aqar Siddhe
Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) (=]

Suppose an organization has multple local area computer networles that are connected with each others through routers and EIP is used te manage routing information. You are required to write three —
main drawbacks of using RTP

Piswer {Ploase lickiare v 408 M WWW.VirtualAcademyLlive.com.
o & 5 R e |ﬂ | il Al A |. [100% = |
P | B A Aeru|le===zsise

YNade by: YWaqar Siddhe




Cuestion Mo : 48 of 52 Marks: 3 (Budgeted Time 6 Min) =

In data transmissicn, the probabidity of paclet loss alwayr remains there In TCP, explain with reason which procedure will be adepted to overcome such network traffic conditon? Also write the —
consequence that can be faced of the traffic 13 not resumed careflly

Piswer {Ploase lickiare v 408 M WWW.VirtualAcademyLlive.com.
o & 5 R e |ﬂ | il Al A |. [100% = |
P | B A Aeru|le===zsise

ONade by: YYaqar \SIddhn

Marks: 5 (Budgeted Time 10 Min) -

Cuestion No : 49 of 52

If the reserved words of character stuffing are considered as a part of dara in Frames at the receiver side, which technique iz required to overcome this simation and how it worles? Briefly explain with the =
help of example

SIS S N WWW.VirtualAcademylLive.com.
BEanl s AL |. [roo =]]
l"-’"' _‘.”"' _‘_”' _“j B r |.||| == :|: s

YNade by: YWaqar Siddhe

Marks: 5 (Budgeted Time 10 Min) (=]

Cuestion No : 50 of 52

Suppose ABC University has different heterogeneous computer networks where fragmentation techricue is used to solve the problem of varied netwarks, How does it work with different MTU sizes
datagrame? Justify your answer with at least five solid reazons

Piswer {Ploase lickiare v 408 M WWW.VirtualAcademyLlive.com.
G E[&I = Ii' «7 |ﬂ| oy Al A |. [100% = |
P | B A Aeru|le===zsise

YNade by: YWaqar Siddhe




Cuestion Mo : 51 of 52 Marks: 5 (Budgeted Time 10 Min) (=

Suppose an organization has a computer network where rulbcasting 15 required. There are different types of nulticast routing protocels that can be uged in thiz scenans. You are required to enbist five —
mulhcast routing protocols wath complete names

Answer {Please click here to Add Answer | WWW.VirtualAcademyLlive.com.

i S A o R I S R A | [100% vl
frorrs 0| O i = felrayl| = E=EE=

YNade by: YWaqar Siddhe

Cuestion No : 52 of 52 Marks: 5 (Budgeted Time 10 Min) (=]

With multiple technologies in networking field where change in a routing fable can happen frequently, does a router in the global Infernet can snll use stafic routing? In case of yesfno, how large i the =
routng table m a router? Support your answer with example

Answor {Ploase cik here to Add Answer WWW.VirtualAcademyLive.com.
= S I R I S A AR F e B ||
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